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माÚयǓमक िश¢ा परȣ¢ा  
(Secondary Education Examinations - SEE) 

clgjfo{ :jf:Yo, hg;ª\Vof / jftfj/0f 
;do M @M!%             k"0ff{ª\s M &%  
                             ;d"x s                            11x1 = 11 
!= :jf:Yo eg]sf] s] xf] < What is health? 
@= s'g} :yfgsf] jflif{s hg;ª\Vofsf] j[l4b/ ! k|ltzt 5 eg] pQm :yfgsf] hg;ª\Vof slt jif{df 

bf]Aa/ xf]nf < 
 What will be the population doubling time of a place if the annual population growth  
      rate is one precent ? 
#= lbuf] ljsf;sf] s'g} Pp6f dxTj n]Vg'xf];\ .  
 Write any one importance of sustainable development. 
$= lj=;+= @)^* sf] hgu0fgf cg';f/ g]kfnsf] lxdfnL k|b]zdf slt k|ltzt hg;ª\Vof  /x]sf] 5 < 
 According to the census of 2068 B.S. of  Nepal, what is the percent of  population in Himalayan 

region ? 
%= u'0f:t/Lo hLjg lgdf{0fdf lzIffsf] s'g} Pp6f of]ubfg pNn]v ug{'xf];\ .  

Mention any one contribution of education for quality of life.  
^= ofzf{u'Dafsf] k'g{pTkfbg s;/L x'G5 <  How is cordecypes reproduced ? 
&= cfpF slt k|sf/sf 5g\ <  How many types of dysentery are there? 
*= g]kfndf ul/aLnfO{ :jf:Yo ;d:ofsf] ¿kdf lnO{g'sf] s'g} Ps sf/0f n]Vg'xf];\ . 
 Present any one cause of considering poverty as a health problem in Nepal.  
(= g]kfndf s'g k|sf/sf] :jf:Yo ;]jf a9L k|rngdf 5 <  
 Which type of health service is more in practice in Nepal? 
!)= ;'/lIft hLjg z}nLsf] Pp6f tTj s] xf] <  What is an element of safe life style? 
!!= s'g} JolQmnfO{ n]s nfu]sf] s;/L yfxf kfpg ;lsG5 < 
 How can we find at a person suffered from altitude sickness? 

;d"x v                            9x4 = 36 
!@= hg;ª\Vof / jftfj/0fsf] kl/ro lbg'xf];\  .     @ + @ = $ 
 Introduce population and environment. 
!#= l9nf] ljjfxn] s;/L hg;ª\Vof Joj:yfkg ug{ d2t k'U5 pbfx/0f ;lxt :ki6 kfg'{xf];\ .  

           # + ! = $ 
 Explain with example, how does delay marriage help for population management?  

cyjf 

 sfNklgs tYof+s k|of]u u/L s'n a;fO ;/fO{ b/ lgsfNg'xf];\ .   !=% + @=% = $ 
 Calculate the gross migration rate by using self imaginary data. 
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!$= lbuf] ljsf;sf] kl/efiff / o;sf tLg j6f dxTjx¿ n]Vg'xf];\ .   !+# = $ 
 Define sustainable development. Write its importance in three points . 
!%= lxdfnL k|b]zsf] kfl/l:ylts k|0ffnL;Fu ;DalGwt s'g} Ps kIfsf] ljj]rgf ug'{xf];\ . 

            !+ # = $ 
 Explain the ecosystem of mountain region with any one related aspect of its. 
!^= ;'vL hLjgsf] s'g} Ps ;"rssf] ;+lIfKt JofVof ug'{xf];\ .     $ 
 Describe any one indicator of happy life in brief. 
!&= dfgj hLjgdf h}ljs ljljwtfsf] dxTj k|sfz kfg'{xf];\ .     $ 
 Highlight the importance of biodiversity in human life. 

cyjf 
 g]kfnsf] cfly{s ;'wf/df h}ljs ljljwtfsf] of]ubfgx¿ ;DaGwdf rrf{ ug{'xf];\ . $ 
 Elaborate the contributions of biodiversity on economic improvement of Nepal.  
!*=;g]{ / g;g]{ /f]ux¿ aLr rf/j6f leGgtf bzf{pg'xf];\ .    @±@ =$ 
 Illustrate four differences between communicable and non communicable diseases. 
!(= ;'/lIft k|;'ltsf nflu ckgfpg' kg]{ ;fjwfgLx¿ pNn]v ug'{xf];\ .    $ 
 Mention the ways of caution for safe abortion. 
@)= ;fd'bflos :jf:Yosf] dxTj 5f]6s/Ldf k|:t't ug'{xf];\ .     $ 
 Present the importance of community health in brief. 

cyjf 
 lsg xfdL v/fa ntaf6 aRg' kb{5 <  s'g} $ sf/0fx? lbg'xf]; .   $ 

Why should we be safe from bad habits?  Give any four reasons. 

;d"x u                            4 x 7 = 28 
@!= jftfj/0f, ljsf; / hg;ª\Vof aLr pbfx/0f ;lxt cGt/;DaGw bzf{pg'xf];\ .   

          @ + @+@ + !  = & 
Illustrate the internationship among environment, development and population with example. 

@@= tkfO{sf] kl/jf/ u'0f:t/Lo agfpg cfjZos s'g} Ps pkfodf cfwfl/t eO{ ;+lIfKt k|ltj]bg 

tof/ kfg'{xf];\ .          @=% + $=% = & 
Prepare a short report to make a quality of life of your family based on any ways.  

@#= Ps l;+u] u}F8fsf] kl/ro lbg'xf]; . Ps l;+u] u}F8f b'n{e x'gfsf sf/0f / ;+/If0fsf pkfo 
n]Vg'xf];\ .          # +@ + @ = & 
Introduce one horned rhinocerous.  Write the causes of its rareness ways of conservation.  

@$=æb'3{6gf Ps lsl;dsf] /f]u xf] eg] ;'/Iff vf]k xf]Æ o; ljifodf pbfx/0f ;lxt cfkm\gf ts{ 

k|:t't ug'{xf];\ .         ! +# + # = & 
"If accident is one type of disease vaccine is safety." Present your view on this subject with 
 example. 
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pQ/ s'l~hsf 
;d"x -s_ 

!= /f]u / b'j{ntfaf6 dfq d'Qm geO{ zf/Ll/s, dfgl;s tyf ;fdflhs ¿kdf tGb'?:t x'g' egL 
n]v]df  ! cª\s 

@= hg;ª\Vof  bf]Aa/ x'g nfUg] ;'q  =    &) 
           hg;ª\Vof j[l4b/  

      =      

      =  &) jif{ n]v]df    ! cª\s 

#= kfl/l:ylts k4ltsf] ;+/If0f, ;dfhsf] lbuf] ljsf;, h}ljs ljljwtf ;+/If0f, hg;ª\Vof 
Joj:yfkg, dfgjLo ;|f]tsf] ljsf;, hg;xeflutfd"ns ljsf;, ;fF:s[lts ;Dkbfsf] 
;+/If0f,k[YjLaxg Ifdtf leq /xg], hLjg:t/df ;'wf/ / jftfj/0f ;+/If0fx¿  dWo] s'g} Pp6f 
n]v]df            ! cª\s 

$= ^=&# k|ltzt n]v]df         ! cª\s 
%= :t/Lo lzIffn] ;do ;'xfpFbf] 1fg, l;k / clej[l4 ljsf; u/fpF5 egL n]v]df jf o:t} 

 cfzo cfpg] pQ/ n]v]df .        ! cª\s 
^= ljhf0f'af6 x'G5 egL n]v]df .        ! cª\s 
&= b'O{ k|sf/sf egL n]v]df jf Pd]ljs / a]l;n/L egL n]v]df    ! cª\s 
*= ul/aL ePdf cfwf/e"t cfjZostf g} k'¥ofpg sl7g cj:yfdf :jf:Yo ;]jf lng ;St}gg\ 

 egL n]v]df jf o:t} cfzo cfpg] cGo pQ/ n]v]df    ! cª\s 
(= pkrf/fTds :jf:Yo ;]jf egL n]v]df      ! cª\s 
!)= ;Gt'lnt cfxf/, :jf:Yo jftfj/0f, zf/Ll/s ultzLntf dWo] s'g} Pp6f n]v]df ! cª\s 
!!= wsfO nfUg], jfGtf x'g], l/+u6f nfUg], gf8Lsf] rfn a9\g], 6fpsf] b'Vg] dWo] Pp6f n]v]df  ! 

cª\s 

;d"x -v_ 
!@= lglZrt 7fpF / ;dodf a;f]af; ug]{ dflg;x¿ sf] ;ª\Vof, egL k"0f{ jfSo n]v]df @ cª\s, 

xfd|f j/k/ kfOg] ;lha / lghL{j ;Dk"0f{ j:t'x¿  egL n]v]df    @ cª\s 
!#= k|hgg cjlw 5f]6f] x'G5, kl/kSjtf cfpF5, dft[lzz' d[To' sd x'G5  # cª\s  
 l9nf] aRrf kfpFbf ;Gtfg yf]/} hGdG5g\, :ofxf/ x'G5 egL o:t} pbfx/0f n]v]df   

           ! cª\s 
cyjf 

 sfNklgs tYof+s n]v]df        !=% cª\s 

 ;'q n]v]df / lx;fa 7Ls u/]df       @=% cª\s 
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!$= ;|f]tsf] plrt k|of]u, bfloTjsf] af]w, cfwf/e"t kIfx¿ sf] ljsf; hg;xdflutfdf cfwfl/t 
ljsf;, ljsf;sf] l;df lgwf{/0f, bL3{sflng ;f]rfO dWo] s'g} rf/j6f n]v]df @ cª\s  

oL dWo] s'g} Pp6fsf] 5f]6f] kl/ro lbPdf          @ cª\s 
!%= ef}lts, h}ljs, ;fdflhs kIf dWo] s'g} Pp6f n]v]df       ! cª\s 
 s'g} Pp6f kIfsf] ;+lIfKt kl/ro n]v]df         # cª\s 
!^= ;fgf] kl/jf/, u'0f:t/Lo lzIff, pko'St pd]/df ljjfx, k|yd ue{wf/0f, hGdfgt/, :jf:Yo / 

;/;kmfO, kf]if0f o'St vfgf, n}lª\us ;dfgtf, cfdfafa'sf] lhDd]jf/L / art ug]{ dWo] s'g} 
Pp6fsf] kl/ro lbPdf           $ cª\s 

!&= h}ljs ljljwtfn], vfg, nfpg, a:g ljleGg ljsf; ug{, ;+/If0f ug{ cWoog cg';Gwfg / 
jftfj/0f ;Gt'ng ldnfpg d2t k'¥ofpF5 egL n]v]df jf o:t} cfzo cfpg] rf/cf]6f a'Fbfdf 
cfwfl/t eP/ n]v]df .            $ 
cª\s 

cyjf 
ko{6g, pBf]u, kz', s[lif, h8La'6L jg k}bfjf/ ;d'lrt kl/rfng u/]df jf o:t} cfzo cfpg] cGo 

n]v]df           $ cª\s 
!*= ljleGg dfWodaf6 ;g]{, l56\6} nfUg], lgsf] x'g], h:t} x}hf, cf}nf] cflb ;Gt'lnt vfgf vfg], 

JolStut ;/;kmfOdf Wofg lbg], ;g]{, /f]u xf] .    @ cª\s 
z/L/af6 ljleGg kbfy{ k|of]u, ef]hgsf] sdL, Jofofdsf] sdL h:t} M bd, SofG;/ cflb ;Gt'lnt 

:j:ys/ vfgf vfg] v/fa ntaf6 aRg] h:t} s'g} rf/j6f km/s b]vfPdf        @ cª\s cª\s 
!(= k|;'ltsf] nIf0f b]vf kgf{;fy c:ktfndf va/, tfultnf] vfgf lbg], ;'Ts]/L ;fdu|L tof/L, :yfg 

;'/Iff / ;kmf, 9f8; lbg] h:t} x]/rfx h:tf pkfo n]v]df jf o:t} ldNg] cGo pQ/ n]v]df s'g} 
rf/ j6fsf]         $ cª\s 

@)= jftfj/0fLo ;/;kmfO, :j:y hgzlStsf] pTkfbg, :jf:Yo ;]jfsf] kx'Fr / ;dfh ;]jfsf] efjgf 
oL rf/j6f n]v]df         $ cª\s 

cyjf 
s'ntdf nfu]sfsf] ;+ut gug]{, w'dkfg h:tf kbfy{af6 6f9f /xg], s'ntsf lj?4df lgod tof/ 

ug]{, hfgsf/L k|rf/ ug]{ cflb n]v]df        $ cª\s 

;d"x -u_ 
@!= hg;ª\Vofsf cfjZostf kl/k"lt{ ug{ ljsf;sf ultljlw ;~rfng x'G5g\ / o:tf sfo{ 

jftfj/0fsf ;|f]tx¿ df lge{/ x'G5g\, hg;ª\Vof Joj:yfkgaf6 lbuf] ljsf;df 6]jf k'U5 / 
jftfj/0f ;+/If0f tyf ;Da4{g x'G5 egL o:t} cfzo cfpg] pQ/ n]v]df hg;ª\Vof / ljsf;sf] 
;DaGw, ljsf; / jftfj/0fsf] ;DaGw / jftfj/0f / hg;ª\Vofsf] ;DaGw b]vfO JofVof u/]df  

               & cª\s 
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@@= kl/jf/ u'0f:t/Lo agfpg] s'g} Ps pkfonfO{ zLif{s, pSt zLif{ssf] 5f]6f] kl/ro, pko'St 
p2]Zo, s;/L tof/ ul/of] egL ljlw n]v]df         @=% 
cª\s 

kl/jf/ u'0f:t/Lo agfpg] s'g} Pp6f pkofsf] aofg, pbfx/0f jf lrqsf] k|:t'lt / k|ltj]bgaf6 
k|fKt ;+lIfKt lgisif{ k|:t't u/]df         $=% cª\s 
olb zLif{s 9fFrf dfq n]v]df        -@=% cª\s_ 
 
@#= — b'n{e k|f0fL Ps l;+u] u}+8f @))) — @%)) s]hL tf}n, !*) ;]dL prfO / #))— #!% ;]dL 

nDafO ePsf] xfQL eGbf kl5sf] bf];|f] 7"nf] :tgwf/L xf], z/L/ km';|f], 5fnf df]6f], kf6f kf6f 
k/]sf], gfsdf vfu ePsf] egL kl/ro n]v]df         @ cª\s 

— g]kfnsf] lzjflns t/fOdf, lrtjg, k;f{, alb{ofdf kfOG5 .        ! cª\s 
— o;sf] vfu, v'/, 5fnfsf] rf/L, lzsf/L, af;:yfg ljgf;, jg jftfj/0f ljgf; h:tf sf/0f 

n]v]df             @ cª\s 
— rf]/L lzsf/L lgoGq0f, af;:yfg ;+/If0f, lgs'~hx¿sf] Joj:yfkg, k|fs[lts vfgfx¿sf] Joj:yf 

egL n]v]df                 @ cª\s 
@$= dflg;x¿  ljleGg b'3{6gfdf k5{g\ . oL b'3{6gf Ps lsl;dsf /f]u x'g\ . eg] To;af6 aRg 

;fjwfgL cjgfpg' vf]k h:t}M Ifo/f]u gnfuf];\ eg]/ /f]u nfUg' k"j{ g} aL;LhL, lbOG5 . o;n] 
/f]u nflu xfn]df klg d[To' x'g lbFb}g / of] /f]u  nfUg glbg klxNo} vf]k lbOG5 egL j0f{g 

u/]df           !±#±#= & cª\s 

 
 
 
 
 
 
 
 
 


